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REXR T T NG HE 0 R%a =t
BEXIR2 @ |BHRR XR OCERR| me | (@) | (@x308) | EA%
3ZEEIR - F4ERRELIE 2,688 1,000 1,000 275 2,275 4,963 148,890 112,650
2518 - FARBE LI 1,792| 1,000 1,000 275 2,275 4067 122,010 112,650
15| 648 - FAERRELL b 896 1,000/ 1,000 275 2,275 3,171 95,130 95,130
15548 - 5 3ER T 896/ 1,000 1,000 275 2,275 3,171 95,130 92,850
15 & 48 - 55 2 F fs 896/ 1,000 1000 275 2,275 3,171 95,130 83,250
15|56 48 - 55 1 ER R 896/ 1,000 1,000 275 2,275 3,171 95,130 83,250
= REXR T T NG HE 0 R%a =t
@ |BHRR XR OCERR| me | (@) | (@x308) | EA%
3EER - F4ERRELIE 2,700[ 1,000 1,000 275 2,275 4,975 149,250 112,650
2518 - FARBE UL 1,800| 1,000 1,000 275 2,275 4075 122,250 112,650
15| 648 - FAERRELL b 900 1,000/ 1,000 275 2,275 3,175 95,250 95,250
15548 - 5 3ER I 900/ 1,000/ 1,000 275 2,275 3,175 95,250 92,850
15 & 48 - 55 2 F fs 900 1,000 1000 275 2,275 3,175 95,250 83,250
15|55 48 - 55 1 R R 900/ 1,000/ 1,000 275 2,275 3,175 95,250 83,250
= RIEXR T T NG HE 0 R%a =t
@ |BHRR XR OCERR| me | (@) | (@x308) | mA%
3ZEER - FE4ERRELIE 2,820 1,000 1,000 275 2,275 5,095 152,850 112,650
2518 - AR LI 1,880| 1,000 1,000 275 2,275 4155 124,650 112,650
15| 648 - FAERRELL b 940 1,000/ 1,000 275 2,275 3,215 96,450 96,450
15548 - 5 3ER T 940/ 1,000 1,000 275 2,275 3215 96,450 92,850
12 & 48 - 55 2 F s 940 1,000 1000 275 2,275 3,215 96,450 83,250
15|65 48 - 55 1 ER R 940/ 1,000/ 1,000 275 2,275 3215 96,450 83,250
REXR T T NG HE 0 R%a =t
@ |BPHE FE KRR me) | (@) | (@x308) | BRE
3EEIR - F4ERRELIE 2,901 1,000 1,000 275 2,275 5,176 155,280 112,650
2518 - FARBE UL 1,934| 1,000 1,000 275 2,275 4209 126,270 112,650
15| 648 - FAERRELL b 967| 1,000 1000 275 2,275 3,242 97,260 97,260
15548 - 5 3ER T 967| 1,000 1,000 275 2,275 3,242 97,260 92,850
15 & 48 - 55 2 F fs 967| 1,000 1,000 275 2,275 3,242 97,260 83,250
15|65 48 - 55 1 ER R 967| 1,000 1,000 275 2,275 3,242 97,260 83,250
= RIEXR T T NG Hi 0 R%a =t
@ |BHRR XR OCERR| me | (@) | (@x308) | EA%
3EER - F4ERRELIE 2,955 1,000 1,000 275 2,275 5,230 156,900 112,650
21518 - FARBE LI 1,970| 1,000 1,000 275 2,275 4245 127,350 112,650
15| 648 - FAERRELL b 985 1,000/ 1,000 275 2,275 3,260 97,800 97,800
15548 - 5 3ER T 985/ 1,000/ 1,000 275 2,275 3,260 97,800 92,850
15 & 48 - 55 2 F Fs 985/ 1,000 1,000 275 2,275 3,260 97,800 83,250
15|65 48 - 55 1 ER R 985/ 1,000/ 1,000 275 2,275 3,260 97,800 83,250
= REXR T T NG HE 0 R%a =t
@ |BHRR XR OCERR| me | (@) | (@x308) | EE%
3EER - F4ERRELIE 3012 1,000 1,000 275 2,275 5,287 158,610 112,650
21518 - FARBE LI 2008/ 1,000 1,000 275 2,275 4283 128,490 112,650
15| 648 - FAERRELL b 1,004 1,000 1,000 275 2,275 3,279 98,370 98,370
15548 - 5 3ER M 1,004/ 1,000 1,000 275 2,275 3,279 98,370 92,850
15 & 48 - 55 2 F fs 1,004 1,000 1,000 275 2,275 3,279 98,370 83,250
15|65 48 - 55 1 ER R 1,004 1,000 1,000 275 2,275 3,279 98,370 83,250
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